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SECTION 1: THE BACKGROUND

Question 1
Use Resource 1.

(@) Describe the growth of air travel in Europe.

(2]

(b) Name the two busiest airports in the UK.

(2]

(c) Explain two reasons for the increase in air transport.

Reason 1

Reason 2

(4]
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Question 2
Use Resource 2 and your own knowledge.

(a) Describe the forecast in passenger numbers at UK airports between 2010-2050.

(2]

(b) Explain two reasons for the increase in air passengers travelling within the UK.

Reason 1

Reason 2

(4]

[Total: 6]
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Question 3
Use Resources 3 and 4 and your own knowledge.
(a) Give two advantages of cheap flights worldwide.

Advantage 1

Advantage 2

(3]

(b) Give two disadvantages of cheaper flights worldwide.

Disadvantage 1

Disadvantage 2

(3]

[Total: 6]

Section 1: 20 marks
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SECTION 2: THE OPTIONS

Question 4

Use Resource 5.

If Birmingham airport is expanded there will be winners and losers.

(a)

(b)

© OCR 2008

Choose one group of winners.

Winners are

Explain how this group will gain from the expansion.

This group will gain from the expansion because

(4]

Choose one group of losers.

Losers are

Explain how this group will lose from the expansion.

This group will lose from the expansion because

[4]

[Total: 8]
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Question 5
Use Resource 6.

The expansion of Coventry airport is unlikely to go ahead.
Explain two possible reasons for this.

Reason 1

Reason 2

[6]

[Total: 6]
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Question 6
Use Resources 7 and 8.
Friends of the Earth are against airport expansion.
Explain why they think airport expansion is unsustainable for:

(@) people who live near airports;

(3]

(b) the whole planet.

(3]
[Total: 6]

Section 2: 20 marks
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SECTION 3: THE DECISION

Question 7

Use Resources 9, 10 and 11, the other resources or your own knowledge.

People have different views about the development of Robin Hood Airport near Doncaster as an
international airport.

There are three possible options.

Option 1

The airport should be allowed to develop into an international airport to help develop the whole region.

Option 2

The airport should be allowed to develop but only in a sustainable way that is acceptable to the local
people.

Option 3
The airport should be closed down and put to a more sustainable use for the community, such as a
country park.
(a) Circle the option you think is best
Option 1 2 3

Give reasons for your choice

(8]
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(b) Give disadvantages of your chosen option.

(4]

(c) Give reasons for rejecting both of the other options.

Reasons for rejecting option

Reasons for rejecting option

(8]

Section 3: 20 marks

TOTAL MARKS FOR PAPER: 60
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If you use these lined pages to complete an answer to any question, the question number MUST
be clearly shown.
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